Workshop at NIHON UNIV

Kosuke SUZUKI

Appendix: Notes on Some Special Topics
	1． Imputed rents of owner-occupied dwellings, disposable income and saving of households 


· Ogawa-sensei’s comment: any effects of the different treatments regarding “maintenance and repair” for owner-occupied dwellings (OCD) between “Household Expenditure Survey” and national accounts.
· Answer: household savings are different by the amounts of “consumption of fixed capital”, but net balances are theoretically equal.
· In national accounts:
· Current account

· Disposable income (+) : X = operating surplus of OCD – property income, payable (i.e., interest on loan and rents on land) 
· Expenditure (–) : Y = imputed rents for OCD
· Saving (balance) : X–Y = – input – consumption of fixed capital – (taxes on production and imports, less subsidies) – property income, payable
(Note)
1. Operating surplus of OCD = output of OCD – input – consumption of fixed capital – (taxes on production and imports, less subsidies), where the input is “maintenance and repair.”
2. Output of OCD = imputed rents of OCD
3. “Taxes on production and imports, less subsidies” would mainly be property taxes. 

4. Rents on land would be offset (i.e., nil) if land is owned by a household itself.

· Capital account

· Saving (+) : X–Y

· Consumption of fixed capital (+) : consumption of fixed capital for OCD
· Investment (–) : housing investment, such as major improvement
· Net lending/borrowing(balance) : – Input – (taxes on production and imports, less subsidies) – property income, payable – housing investment
· In “Household Expenditure Survey”:
· Revenue (+) : nil
· Expenditure (–) : maintenance and repair + property tax + payment of loan(*) + investment for major improvement
· Saving (balance) : – maintenance and repair – property tax – payment of loan(*) –investment for major improvement 
= “net lending/borrowing” in national accounts
(Note)

1. “Payment of loan” in “Household Expenditure Survey” may include a payment of the principal as well as an interest payment, the former of which is recorded as a financial transaction in national accounts. This should be excluded.
2. Investment for major improvement is classified in financial transactions in “Household Expenditure Survey.”
· Other related issue:

· It would be better to record some policy instruments appropriately; such as tax deduction on housing loan as a negative tax, but it would be quite difficult due to data constraint.
	2． Treatment of “Pocket money” in JSNA


· Definition of “pocket money”: the correct meaning of “pocket money” in Japanese (KOZUKAI, sometime we say O-KOZUKAI) is “small amount of money to be used personally to purchase groceries or miscellaneous goods and services.” See any Japanese dictionaries. 

· Another possibility: pocket money given to children can also be expressed as “O-KOZUKAI.”
· Treatment in JSNA: Expense to pocket money in “Household Expenditure Survey” is proportionally allocated to relevant categories of goods and services in household consumption expenditure. (i.e., based on the proper definition of “pocket money”) The proportions for the distribution are calculated using “National Survey of Family Income and Expenditure,” which is conducted every five year. Please also see the methodology notes by ESRI (on page 19). 
http://www.esri.cao.go.jp/en/sna/050721/contents.pdf
	3． Concept of Rent and Rental: with an example of land and property


· Description in SNA93:
· Property incomes are received by the owners of financial assets and tangible non-produced assets, mainly land and subsoil assets. [7.87] 
· The distinction between property incomes and the rentals receivable and payable under operating leases is fundamental to the System as rentals are treated as sales or purchases of services. [7.90]
· The rentals payable by lessees to lessors are therefore treated as purchases of services produced by the latter. They may be recorded under the intermediate consumption of enterprises or under the final consumption of households or government. On the other hand, the owners of funds, land or subsoil assets who merely place these assets at the disposal of other units are not considered to be themselves engaged in productive activity. The assets loaned, rented or leased have not been produced and no capital consumption is incurred in respect of their use.  The property incomes payable by enterprises that borrow funds or rent land or subsoil assets do not affect the calculation of their value added or operating surpluses. [7.91]
· Example: 
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(Note) Cited from Shirakawa and Ino (1994)
	4． Arbitrary payments from patients to doctors before treatments 


· A tough question: any services are provided by doctors, which is strictly related to this payment? Or can this be regarded as “donation”?
· Relevant descriptions in SNA93:
· A transfer is defined as a transaction in which one institutional unit provides a good, service or asset to another unit without receiving from the latter any good, service or asset in return as counterpart. [8.27] 

· Expenditures on goods or services occur at the times when buyers incur liabilities to sellers. These are usually the times when the delivery of a service by the producer is completed to the satisfaction of the consumer. [9.24]

· A tentative conclusion: this payment could be considered as a “tip.” But, how can we define the prices and the quantities of the services provided by doctors? Anyhow, should be researched more thoroughly.
	5． Relationship between operating surplus and entrepreneurial income


Identity: 

Entrepreneurial income (after receivable and payable of distributed income of corporations) 

= operating surplus (net)(*) + property income, receivable – property, payable
(*) As for private unincorporated enterprises, “operating surplus and mix income (net)

Example: Cited from the latest JSNA Yearbook
· The following are the figures from the tables in Income and Outlay Accounts classified by Institutional Sectors (Unit: billion yen, for fiscal year 2006)
	
	Operating surplus and mixed income  (net)
	Property income (receivable)
	Property income (payable)
	Entrepreneurial Income: Calculated as  above

	Non-financial corporations 
	54525.3
	17172.1
	33567.4
	38130.0  (A)

	Financial corporations
	-4230.5
	68278.5
	46869.4
	17178.6  (B)

	Private unincorporated enterprises (including imputed rents for owner-occupied dwellings)
	45118.2
	0
	7,668.5 (excluding consumer debt interest, which is paid by households)
	37449.7  (C)


· The followings are the figures from Main Aggregates Table 2: “Distribution of National Income and National Disposable Income.” (for fiscal year 2006)
· Entrepreneurial income (EI) of non-financial corporations 

= EI for private non-financial corporations + EI for public non-financial corporations 

= 36193.3(billion yen) + 1936.7(billion yen) = 38130.0(billion yen) 

= (A)

· Entrepreneurial income of financial corporations 

= EI for private financial corporations + EI for public financial corporations 

= 12265.9 (billion yen) + 4912.7 (billion yen) = 17178.6 (billion yen) 

= (B)

· Entrepreneurial income of private unincorporated enterprises 

= 37449.7 
= (C)

	6． Retroactive extrapolation of new series using old series


· There are possibly three methods.
　
Example data:

	Periods
	t=1…….n
	t=n+1………..m
	t=m+1….... z

	Old series (level)
	A1……..An
	An+1…….. Am
	

	(Growth rates)
	a2….an
	an+1…….. am
	

	New series (level)
	
	Bn+1………Bm
	Bm+1……..Bz

	(Growth rates)
	
	bn+2…bm
	bm+1……..bz


· M1: using growth rates of old series to extrapolate new series backward
Bn = Bn+1 / (1+an+1)   
Bn-1=Bn / (1+an)

    …
    B1=B2 / (1+a2)                                                    ……(6.1)
· Advantages: simpler and easier
· Drawbacks: larger or smaller fluctuation if the levels of old and new series are rather different.
· M2: connecting old series to new series (adjusting the levels)

At first, to calculate a level adjustment ratio (LAR).
LAR = (Bn+1 + Bn+2 + ….Bm) / (An+1 + An+2 + ….Am)                 ………(6.2)
Then, to calculate B1…..Bn backward using LAR.

    Bt = LAR * At  (for t = 1….n)                                   ………(6.3)

· Advantages: simple and easy
· Drawbacks: discrepancy may occur at the period of connection. 
· M3: regressing new series on old series 

At first, to run a regression analysis; Bt = f*At + g (for t = n+1…m)   …….(6.4)
                                 or ln(Bt) = h*ln(At) + i , and so on.  .…(6.5)
Then, to estimate Bt for t = 1….n using estimated parameters f & g or h & i.

· Advantages: more sophisticated
· Drawbacks: This method requires enough length of the overlapping data to conduct a regression analysis, and is not simple and easy.
	7． What kinds of taxes are included in “capital tax”? 


· Treatment in JSNA: The capital tax includes an “inheritance tax” and a “gift tax.”
· Description in SNA93: see Para [10.136]

· Capital taxes consist of taxes levied at irregular and very infrequent intervals on the values of the assets or net worth owned by institutional units or on the values of assets transferred between institutional units.

· Capital levies consist of taxes on the values of the assets or net worth owned by institutional units levied at irregular, and very infrequent, intervals of time. They include betterment levies: i.e., taxes on the increase in the value of agricultural land due to planning permission being given by government units to develop the land for commercial or residential purposes.
· Taxes on capital transfers consist of taxes on the values of assets transferred between institutional units. They consist mainly of inheritance taxes, or death duties, and gift taxes, including gifts inter vivos made between members of the same family to avoid, or minimize, the payment of inheritance taxes.
	8． Differences in imputed rents for owner-occupied dwellings between BY(Benchmark Year)1995 series and BY2000 series


· Overview: As results of the improvement in the estimation method for imputed rents, the figures were revised in JSNA of BY2000 series.
· Basic concept of imputed rent estimation: rents for a unit floor space of owner-occupied dwellings are determined applying market-rents of rented housing with equivalent qualities. 

· Old method: BY1995 series (1980-2003)

· No quality control is implemented.
 
· Current method: BY2000 series (1994-present)

· Qualities of owner-occupied dwellings are controlled in terms of 
· Location (Which prefecture dwellings are located in?)

· Structure (Wooden or other-than-wooden)

· Period of being built (7 time periods)

· A brief explanation of the downward revision: The actual rents in Tokyo are much higher than any other areas of Japan. Furthermore, Tokyo’s share is larger for houses for let but smaller for owner-occupied dwellings. This makes an average actual rent lower if it is calculated without considering location.
Example:
	
	Owner-occupied dwellings
	Rented dwellings

	Tokyo 
	IRt=Pt*Sto
	ARt=Pt*Str

	Other
	IRo=Po*Soo
	ARo=Po*Sor

	In total
	IRt+IRo
	ARt+ARo


IR: imputed rents, AR: actual rents

P: actual and imputed rents for a unit floor space
S: floor space

t : Tokyo, o: Other
o: owner-occupied dwellings, r: rented dwellings

If an actual rent is calculated without considering location, then an average unit price will be:

P=Pt*str+Po*sor, where str=Str/(Str+Sor), sor=1-str=Sor/(Str+Sor)  ……(8.1)
An alternative imputed rent is therefore calculated as:

IR=P*(Sto+Soo)                                              ………..(8.2)
, which is larger than IRt+IRo, since Pt>Po and sto < str.
· A possible adjustment: Obviously, the new series are preferable. However, the new series are available only from the year 1994 onward. In order to extrapolate the new series before 1993, the connecting methods that are described in section 6 above can be applicable.
Please see relevant documents by ESRI (sorry but written only in Japanese). 
http://www.esri.cao.go.jp/jp/sna/050614/shiryou4.pdf
http://www.esri.cao.go.jp/jp/sna/050614/shiryou5.pdf
� Some economists use M2 or M3. I introduced M2 at last workshop.


� I would think that this method may be applicable, provided that housing market is not segmented by locations and the quality distributions of owner-occupied dwellings and rented housing are similar.
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